A3—FJR b

i ENo. 131 TF 50m BfRFE P& 64
CcS
Kig o B K % PB4 FE
148
1
2
3 X 2698 It WFE ¥\ T+ 4 NI B =3
4 ® = 1127 FK =¥ YIRT I WAy AER =
5 (T 1843 ZEHE T& 40 Fib JayvEE =2
6
7
8
248
1
2 X 2545  #BfR FE 9h 4 1%t ABRERKS =2
3 E A 2253 g h=y 3% #BiES S =2
4 & M 2028 fHEERE EE Y/N NI RSCILTYY =3
5 dtilsE 8 F 3] IVh7 ®1 JFEILES S =3
6 #H E 723 FEEEHE N3 YOIVZ: T NI =2
7 FOFRL 3013 D 3FE DL AT NILEDE =2
8
R |
1 E % 1870 HBIR #iF AIN5 Y ava  WAVAR KR =2
2 B E 585 IHF B 1) 19 A4 UEBE =2
3 ®BE E 1369 KEEFZ HoURh EERF—LA =3
4 ® = 1445 #H®  FER MY B3 IYUEAN =3
5 F % 810 KfzFRE h 3 vty HiE - =2
6 I A 1890 EB# HBE Thh3 nvh J SSEKHE =2
7 W & 2454 HE BEH h LY RN KAS/ REEKkE &2
8 RN 1511 {EARM % 93 7Y 91-4-44Y =3
b
1 b= 1682 EREFEF M FI3 Nagatsuta. SC =3
2 F 70 #HE HuL Y93 74 YOI RE =3
3 B =R 1461  ZETEFERE 7hid Ut e R =3
4 X R 2699 AH T2 194 Ftn VIS e 52
5 =K # 2445 i+ ERF vy 143 BEER =2
6 W K 316 FIL EMH 7Y% 1 AVFEE =3
7 ® =R 1322 R HERLTY Ny 1Y/ BED CER =2
8 B =E 699 #® 11F MY D A4 Vil =3
54
1 B =R 1236 RS %B hah 4 13 INEFSC =2
2 xRN 1485 %% BEF 74/ Y3 BXER  /ATSC. YW =2
3 & M 3315 1EEF ;|E 91/ ¥4 KSG#2 R h#£SS =3
4 BEE K 3366 Z=LuMY MY EDY ik = ¥ 21 =3
5 & B 198 E4 FX 7'y Bt SWA 2R 1L =2
6 B E 550 JIEE EE 9% W A4 VKR =3
7 ® R 1123 k¥ HE '/ 94% VYRR it =2
8 ©& B 202 EHELF v/ 3% SWA AR 1L At =2
Page: 1/2 Printing: 2016/03/11 16:46:25

SEIKO



A3—FJR b

#EHNo. 131 TF 50m BfRFE P& 64
CS

Kig B K % B4 e

648
1 wm oK 317 BEX T )Y A VFERE =3
2 F OE 809 &L ¥ AT TY) ME- A =2
3 X B 2597 iH #E 191 7¥% 14 < 52
4 Il 3006 {XFE ME A3th hiI NI SR =2
5 ® = 1158  /h#k BB mWyy 9335 2 =ZEEMSS =2
6 HE]| 1733 £% ZER ¥ Ny % ATSC. YW 52
7 ® = M7 w8 ‘e M7 L4 0y REA WL =2
8 X K 2528 XB =i 73/ 193 KAKERE =3

SEIKO Page: 2/2 Printing: 2016/03/11 16:46:25



